HonorsTrigonometry Name
Copy original problem. Per Date
Convince me that you understand the concept!

No Calculators!

Chapter 4 Exam

I State the Domain and Range, show a sketch of the function and

show the “memory device” for each of the following: (15 ptstot)
a a(x) = cos ' x b) b(x) =sin" x 0 c(x) = tan " x
d) d(x) = sec ' x 6 X)) = csc X fy  f(x) = cot™ x
I I Solve [0 x suchthat & x 21 (15 ptsea)
b sin 2x -t x
a) tan 2x = tan x ) 1 + cos 2Xx
. X 1+ sinx CoS X
c) sSn—_— +cosx =1 d) + . = 4
2 CoSs X 1+ sinx
€) sn2x < sn x
|11 14 gty = I
Solve 0 x € O tan -+ tan? x = > (10 pts)
Extra Credit -------------=--mmsmmmmmcemme e 5 PS —-m-m oo

Solve 1 x 0< x< 2 4sinxcosx =1



